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1. What kind of agreement did the countries reached during the 2015 UN Climate Change Conference in Paris?

a) To set the limit of global warming less than 2°C.
b) That avarage temperature in the world would not exceed 1.5 C.
c) To set the limit of global warming more than 2°C.
d) To set the limit of global warming would reach 3°C.

                                                                                                  Correct answer  a)

2. What kind of mathematics examines renewable energy recourses models?

a) Logic
b) Statistics 
c) Calculus and Analysis
d) Combinatorics
                                                                                               Correct answer   b)



